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OEMA B

Bl. a)
def max_poso(self):
max = self.poliseis[0]
for x in self.poliseis:
if X > max:
max = X
return max

p) politis1 = Politis("lodvva Kovoetavtivov",[10000,15000,5000,200001])

) print(politis].max_poso())
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OEMA I

#OEMA T

#I'3

def YPOLOGISMOS(x):
return 4*x

#I'1
SXOL =]
TYPOS =[]
MATH =[]
for i in range(5):
for j in range(4):
SXOL.append(str(input('Adce dvopa oyoAeion')))
TYPOS.append(str(input('Adce Tom0 oY0AEi0V')))
plithos = int(input('A®ce TAn00¢ podntdv'))
while plithos < 20 or plithos > 50:
plithos = int(input(' AdBo¢ tiur|. ZEovaddoe'))

MATH.append(plithos)
#I2 xon I'4
Sum =0
plithos =0
Pl PEPAL
for i in range(20):

COST = Ypologismos(MATH][1])
print("To kdcT0¢ TV €101TNPi®V TOVL GYOoAEloL gival:',COST,'E")
Sum += COST
plithos += MATH]i]
if TYPOSJi] == TIEITAA":
Pl PEPAL += MATH]i]
print("ZvvoAikd £€coda:',Sum,'€")
pososto = PI_PEPAL/float(plithos)
print('[lococtd padntov IEITAA:',pososto,'%")
#END

OEMA A

#OEMA A
ANS =[a,'d",'b', 'b', 'a', 'c', 'd', 'a', 'b', 'c']
#A1
KOD =[]
SB =]
for i in range(300):
KOD.append(str(input('Adce kmdkd voymeiov')))
sum =0
for j in range(10):
apant = str(input('A®ce andvinon vroyneiov'))
if apant == ANSJ[j]:
sum +=5
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SB.append(sum)
#A2
for 1 in range(300):
if SB[i] > 30:
print(KODJ1])
#A3a
for 1 in range(0,299,1):
for j in range(299,1,-1):
if SB[j] > SB[j-1]:
SBJj], SB[j-1] = SBJj-1], SBJj]
KOD[j], KODJj-1] = KOD[j-1], KODJj]
#A3P
f = open('lang.txt','w")
for i in range(300):
text = KOD[i] +" " + str(SBJ[i])
f.write(text + "\n")
f.close()
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